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o | 1998 Jooy] 3928952 Jooy] 167990 Jooy] 1+ 750252 Jooy] 1852104 1004
B A A A A A
#H 175 100 187 100 164 100 99 100 86 100
28 | 1,571,754 38.0] 1,269, 965 32.3] 2,129,990 51.1] 345,660 19.8] 1,018,430 55.0)
BE g 49 28.0 53 28.3 47 28.7 13 13.1 34 39.5
ER | 28 54,994 1.3] 220, 225 5.6] 212,100 5.1 77,910 2.0/ 167,060 9.0)
#H 17 9.7 16, 8.6 12 7.3 5 2.7 12 14.0
WAE | &8 227,740 5.5/ 156,800 4.0/ 157,390 3.8] 26,000 0.7] 198,170 10.7
#H 12) 6.9 11 5.9 7 4.3 2 11 10 11.6
wm | xm |2 563, 640 13.6] 544,300 13.9] 946,000 22.7] 77,500 2| 65,000 3.5
#H 8 4.6 17 9.1 16, 9.8 2 1.6 5 5.8
B 358, 600 8.7 348,640 8.9 814,500 19.5] 164,250 4.2] 588,200 31.§
xR #H 10 5.7 9 4.8 12 7.3 3 1.6 7 8.1
rom 2% 66, 780) 1.6 0 0 0 0 0 0 0 0
g 2 11 0 0 0 0 0 0 0 o
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P "HMA W ®rA ] W ®rA W ®rA W ®rA ] W ®rA W ®rA W ®rA i
By 1,681 100 1,745 100 1,696 100 1,628 100 1,538 100 1,676 100 1,634 100 1, 446 100 1,394 100 1,279 100
#H 164 100 165 100 166 100 158 100 190 100 199 100 189 100 179 100 168 100 160 100
B 963 57.3 1,029) 59.0 989 58.3 957, 58.8 837, 54.4 824  49.24 790 48.34) 727]  50.34) 750]  53.84) 621 4904
B R 63 38.4 66 40.0 60 36.1 58 37 54 28 58 29,14 52 2754 49 2744 45]  26.84) 43 2694
am | 2% 499 29.7 537, 30.8 512 30.2 470 28.9 402 26.1 328] 19,64 309 2444 371 25,7y 423 30,34 367 28.74
[r 30 18.3 31 18.8) 28 16.9) 26 16.5 24 12,6 23] 1164 23] 12.24) 20 1124 21 12.54) 20 12.54)
&8 145 8.7 125 7.2 121 7.1 90 5.5 104 6.8 95 5.7% 81 5.0% 93] 6 4y 51 374 59 4 64
REE am 14 8.5 15 9.1 13 7.8 10 6.3 11 5.8 11 5.5% 11 5.8% 12 67w 8| 4.8y 8| 504
&8 145 8.6 138 7.9 127 75 164 10.1 183 11.9) 152 9.1% 139 8. 5% 123) 859 115 8 24) 16 914
™ 7 4.3 7 4.2 6 3.6 9 5.7 9 4.7 10 5.0% 9 4.8% 8| 45y 6| 364 6| 3.8y
&8 173 10,3 229 13.1 229 13.5 233 14.3 148 9.6 249 14,94 172] 10,59 140 974 161 1159 85 6 64
2R 12 7.3 13 7.9 13 7.8 13 8.2 10 5.3 14 7,04 9 4.8% o 504 10 6.0% o 564
&8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= hn 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
D BRERERIEES
E-3: 4 25 26 27 28 29 30 31 R2 R3 R4
5 8 12424 &4 WA &8 WA &8 WA &8 WA &8 WA &8 WA &8 WA &8 WA &8 WA
BA% | an EELG] L] L] L] L] W ®AA W ®5A W ®AA W ®AA W ®AA y
R 1,960 100 1,306 89.7 1,478 79.0 1,711 100 2,000 95 1,347 69 1,208 100 939 99.7 696 100.0 1,087]  100.0
= #H 253 100 189 984 198 99.0 209) 100 215, 100 158 99 118 100 82 988 71| 1000 108)  100.0
LY 0 0 150 10.3 392 21.0 0 0 100 5 595 31 0 0 3 0.3 0 0.0 0 0.0)
’“‘f #H 0 0 3 1.6 2 1.0 0 0 1 0 2 1 0 0 1 1.2 0 0.0 0 0.0)
&8 1,960 100 1,456 100 1,870 100 1,711 100 2,100 100 1,941 100 1,229 100 942 100.0) 696  100.0) 1,087]  100.0
i #H 253 100 192 100 200 100 209) 100 216, 100 160 100 118 100 83 100.0 7] 1000 108)  100.0
BA%E | 2 69 100 29 100 155 100 81 100 277, 100 129 100 141 100 48] 100.0 24 100.0 166 100.0
""25 #H 9 100 4 100 12 100 8 100 11 100 11 100 8 100 4 1000 3 1000 4] 1000
AR | o 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0 0 0.0 0 0.0)
uE _”’g’g #H 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0 0 0.0 0 0.0)
&8 69 100 29 100 155 100 81 100 277, 100 129 100 141 100 48] 100.0 24 100.0 166 100.0
i [y 9 100 4 100 12 100 8 100 11 100 11 100 8 100 4 1000 3 1000 4 1000
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FE 19 20 21
5 &4 WA &4 WA &8 WA
BAZ | o FA %) FA %) FA %)
R 27,900 70.3| 103, 960, 93.9| 17,530 100
= #H 54, 83.3 6t 85.7 44 100
xmEA | 28 | 11,760 297 6,750 6.1 0 0
L1 1 16.7) 1 14.3 0 0
S8 | 39,660 100] 110,710 100] 17,530 100
i [y 6 100 7 100 4 100
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o BAA 1008 BAA 1008 BAA 1004 BAA 100%)
BH 6. 52 111 81
#H 9 100 10 100 12 100 11 100
e | 2H 10 15.9) 0 0 6.5 5.9 11.5 14.9)
[y 2 22.2 0 0 1 8.3 1 9.1
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X5 8 12424 &4 WA &4 WA &8 WA &8 WA &8 WA &8 WA &8 WA &8 WA &8 WA
om | B77 1005) BHA 1005) BHA 1005] BHA 1005 BHA BRG] 1005) BHA 1005] BHA BHEA BRG] 1004
nrt 20 32 54 16 of - 150 20 of - of - 55
#H 1 100.0 2 100.0 3 100.0 1 100.0 of - 1 100.0 1 100.0 of - of - 1 100. 0
&8 0 0.0 32 100.0 0 0.0 0 0.0 of - 150 100.0 0 0.0 of - of - 55 100. 0
BE n 0 0.0 2 100.0 0 0.0 0 0.0 of - 1 100.0 0 0.0 of - of - 1 100.0




